TTT T T 1 TTT T T 1 LB |
|
= ] —
e 0]
<
AN - ]
o + ——— = -
S F 7
S F 7
g i
w.— —
w - f =
—
m_ﬁ ]
™
1 |
- | _
- |
n
<
- -
AV _
AN ITTEN ITTE N
7 Y ‘v
o (@) o
L | L | L o |
(A93 s zwd)/suojoyd
TTT T T T 1 [TTTT T T 1 [TTTTTT
i -
; 1
(@] —
0,
*— —
Er —= .
E L 7
m_ —
Qo |- —
- 1 } =
o~ L —
o |
(4}
. |
<+ £ | -
- |- —
w _
o —
™ L —
(o))
LI TN B Lt o
o ~— [aV4
(@] | |
— o (@)
i ]

(A®¥ s)/syuno)

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

— — <
T 9 9
28 8
w -
N © Q
| | |
+ + +
8
-l -l
s % 5 ¥ 8
Mo om N8 o
o~ o o) (<) ITe)
@ = <+ < 9
N | —
]
()
© I
[ ]
) Il g
) § s
[ FE—— I [}
n L 2 - Z
TTT[TTTT[TITTJTITTI[TTTT]T
—
_*_
—
—_—
L -t
Iy [ -
B — _
- —_—t -
N —_——
N —_
_*_

«dRIRRRRURREN

+

s[enpisay

aQa — o - M

1.00

0.10

17

X2req = 0521

Energy/keV



